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M.A. (PART - I) Examination — 2012
ECONOMICS
EC - 01 : Micro-Economic Analysis
(Annual Pattern)

Time : Three Hours Total Marks : 80

Note : (i)  All questions are compulsory.
(i)  Figures to the right indicate full marks.
(i)  Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Q. 1. Answer the following questions in about 20 words each (any ten) : [20]

(1) Define Micro Economics.
(2) What is Production Function?
(3) What is Normative Economics?
(4) Define Demand?
(5) What is meant by cross - elasticity of demand?
(6) Define Monopoly.
(7) What is meant by Duopoly?
(8) State any two basic economic problems.
(9) What is Product Differentiation?

(10) What is Collective Bargaining?

(11) What is Gross Interest?

(12) Define Welfare Economics.

(13) What are Variable Costs?
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Q. 2. Answer the following questions in about 20 words each (any two) : [10]
(1) What is Price Mechanism?
(2) State the features of Perfect Competition.
(3) What is meant by negative income elasticity of demand?
(4) What are Selling Costs?

Q. 3. Answer the following questions in about 150 words each (any two) : [20]
(1) What are the determinants of Demand?
(2) Explain the Revealed Preference Theory of Demand.
(3) Explain the concept of Excess Capacity.

(4) Explain the Compensation Principle in Welfare Economics.

Q. 4. Answer the following questions in about 500 words each (any two) : [30]

(1) Explainfully the Law of Supply. Discuss the concept and various
types of elasticity of supply.

(2) Explain the Ricardian Theory of Rent.

(3) Elaborate the equilibrium of a producer in the monopolistic
competition.

(4) Explainin details the Lonable Funds Theory of Interest.
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M.A. (PART - Il) Examination — 2012
ECONOMICS
EC - 5 : Economics of Growth and Development
(Annual Pattern)

Time : Three Hours Total Marks : 80

Note :

(i)  Attempt All questions.
(i)  Figures to the right indicate full marks.
(iii)  Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Q. 1. Answer the following questions in about 20 words each (any ten) : [20]

(1)
(2)
3)
(4)
(5)
(6)
(7)
(8)
(9)
(10)
(11)
(12)
(13)

Define concept of Economic Development.
What is Absolute Poverty?

What is meant by Embodied Technical Progress?
What is Technical Dualism?

What is back-wash effects?

Define Agricultural Productivity.

What is Stationary State?

What is International balance of payments?
What is meant by Innovation?

What is Human Development Index?

State any two factors affecting Economic Growth.
What is Infrastructure?

What is Decentralized Planning?
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Q. 2. Answer the following questions in about 50 words each (any two) : [10]
(1) Explain the concept of Surplus Value.
(2) Explain the concept of Sustainable Agriculture.
(3) Explain the terms of trade between Agriculture and Industry.

(4) Explain the concept of Social Dualism.

Q. 3. Answer the following questions in about 150 words each (any two) : [20]
(1) Explain the theory of Demographic Transition.
(2) Explain the different index of human development.
(3) Review the achievements of Planning in India.

(4) Explain the theory of Balanced Economic Growth.

Q. 4. Answer the following questions in about 500 words each (any two) : [30]

(1) Explain the contribution of Adam Smith to the Theory of
Economic Development.

(2) What is Human Resource Development? Explain the role of
Government in Human Resource Development.

(3) Explain role of International Trade in Economic Development.

(4) State and explain the Mede’s model of Economic Growth.

[4104] - 10 Page 2



Total No. of Questions - 04]

( ATST ®UTaT )

A : I A=

e e

() Hd 93T Hrsfau e TR,
() 3ISETRSIA ik FeAI 0T T[0T TEIfeTa.

(3) I YYS ATE.

(%) 3TEYIE qY STHET FIE.

[Total No. of Printed Pages - 04

TR IO : ¢o

Y. . Teiel G Jeieh! AR R0 Iead SaR TeT (ShivTdel Tar) :

(?)
(R)
(2)
(%)
(W)
(8)
()
(¢)
(Q)
(o)
(2%)
(2R)

(23)

[4104] -

* amifefen faeRTd’ =1 Hehoum=t ST 1.
TRUe SRed U & ?
FTYd qIf>Feh TTdT TS 1 ?

dif>eh Eae TSl i ?
FfqERe ROMH TUTS! 1 2
ST SHIChdH! ATEAT .
Teerfaeliel STaeer ol i ?

AL FATER Aqrel TSl B 2

T FEOTS <1 ?

Al ferehr et T urst hra?

3T FaEier IRTH 0 SIVET I Seeh i,
AT e TS hie?

o N TSN N

farehfad e =S S/ ?

10 Page 3

[Ro]

P.T.O.



Total No. of Questions - 04] [Total No. of Printed Pages - 04

Y. R. Teia G Jeieh! AR Yo TIeaid Saik foral (ShIUTdEt giF) : [20]

(R) Al FeAr= Hehod=T T .

() Ve AT HeheqmT T .

(3) At SAfoT IS AL SATIR WAl T2 .

(%) wmISTe gaFars (Social dualism) &1 HehedAT T .

Y. 3. Teia G Jieh! AR QYo i Sl folel (SRIuTder i ) [R0]

(?) <ArREEA o= faqeid T S
() wra foeprar fafay frewme T .

o N

(3) 9RAE S ST STIETeT =41,

(%) Wi T faskmamen fagHia v .

. ¥. Geiel TR Teieh! AN Yoo W S foTel (FRIUTaEt a) [30]
(R) i faehmar=n fagHiardia e fmy= IreH T .

(R) HE FETH faehm U S ? W6 GErEH fashmandiel Seni e
fergeTeon .

(3) effer forenmaTdier STiaRseTa SATaRr=h YfHeh! T .
(’¢) He T 3Afeleh g FiaHH | O T .

¢ 00

[4104] - 10 Page 4



Total No. of Questions - 04] [Total No. of Printed Pages - 04
[4104] - 11

M.A. (PART - Il) Examination — 2012
ECONOMICS
(EC - 6 : International Trade and Finance)
(Annual Pattern)

Time : Three Hours Total Marks : 80
Note : (i) Attempt All questions.

(i)  Figures to the right indicate full marks.

(i)  Answers should be precise and to the point.

Q. 1. Answer the following questions in about 20 words each (any ten) : [20]
(1) Define comparative advantage of trade.
(2) What is intra - industry trade.
(3) What is dynamic gains of trade.
(4) State two advantages of flexible rate of exchange.
(5) What is foreign trade multiplier.
(6) Define dynamic effects of free trade area.
(7) State two objectives of SAFTA.
(8) WhatisS.D.R.
(9) State two objectives of UNCTAD.
(10) State two direct benefits of WTO to India.
(11) Give two rationales of trade reforms in India.
(12) What is nontariff barriers of trade.

(13) State two rules of Gold Standard.
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Q. 2. Answer the following questions in about 50 words each (any two) : [10]
(1) Explain opportunity cost principle of International trade.
(2) Explain the static gains from trade.
(3) Explain nature of regionalism in trade.

(4) State the recent reforms in international monetary system.

Q. 3. Answer the following questions in about 150 words each (any two) : [20]

(1) Explain the adjustment process under gold standard to correct
disequilibrium in balance of payment.

(2) Explain the foreign trade multiplier with foreign repercussions.
(3) Explain the theory of Short Term Capital Movement.

(4) Explain the recent directional changes in India’s foreign trade.

Q. 4. Answer the following questions in about 500 words each (any two) : [30]

(1) Critically examine the Hecksher-Ohlin theory of International
Trade.

(2) Explain in details the merits and demerits of flexible exchange
rate.

(3) Explain the nature and causes of East Asian crisis. Describe its
effects on world economy.

(4) Explain in detail the role or MNCs in Indian economy. State their
malpractices.
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M.A. (PART - Il) Examination — 2012
ECONOMICS
(EC - 13 : Agricultural Economics)
(Annual Pattern)

Time : Three Hours Total Marks : 80

Note : (i)  All questions are compulsory.
(i)  Figures to the right indicate full marks.
(iii)  Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Q. 1. Answer the following questions in about 20 words each (any ten) : [20]

(1) Define Agricultural Economics.
(2) What is Poverty?
(3) What is Livestock Economics?
(4) What is Farm Budgeting?
(5) What do you mean by Land Reforms?
(6) Concept of Rural Finance.
(7) What is Agricultural Price?
(8) Define Sustainable Agriculture.
(9) What is Agri-business?
(10) What is Capital Formation?
(11) What is Regulated Markets?
(12) What is Public Distribution System?
(13) What is Biotechnology?

[4104] ~12 Page 1 P.T.O.
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Q. 2. Answer the following questions in about 50 words each (any two) : [10]
(1) Explain the Nature of Agri-business.
(2) Explain the Cobweb Model.
(3) Explain the drawbacks of Collective Farming.

(4) Discuss “White Revolution’.

Q. 3. Answer the following questions in about 150 words each (any two) : [20]
(1) Explain the role of Agriculture in economic development.

(2) Explain the nature of the terms of trade between Agricultural and
Non-Agricultural Prices.

(3) Explain the role of Regional Rural Banks in rural credit.

(4) Explain in detail the Achievements and Failures of land reforms
in India.

Q. 4. Answer the following questions in about 500 words each (any two) : [30]

(1) Evaluate the impact of World Trade Organization on Indian
agriculture.

(2) Discuss recent trends in agricultural growth in India. State the
factors responsbile for Inter-regional Variations in the growth of
Output and Productivity in India.

(3) Crifically evaluate the role of NABARD in agricultural credit.
Suggest the measures to improve it.

(4) Explain the objectives of Agriculture Price Policy in India.
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M.A. (PART - Il) Examination — 2012
ECONOMICS
EC - 14 : Financial Institutions and Market
(Annual Pattern)

Time : Three Hours Total Marks : 80
Note : (i)  Attempt All questions.

(i)  Figures to the right indicate full marks.

(iii)  Answers should be precise and to the point.

Q. 1. Answer the following questions in about 20 words each (any ten) : [20]

(1) Define Capital Market.
(2) What is Stock Market?
(3) Define Co-operative Bank.
(4) What is Securities?
(5) Define ‘NBFIs’.
(6) State two advantages of Provident Fund.
(7) State two functions of ‘SEBI’.
(8) What is GDR?
(9) Give two objectives of IBRD.

(10) State two advantages of ADR.

(11) What is risk-return trade off?

(12) What do you mean by Diversification in Commercial Banking?

(13) State two principles of Valuation of Securities.

[4104] ~13 Page 1 P.T.O.
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Q. 2. Answer the following questions in about 50 words each (any two) : [10]
(1) Explain the objectives of Financial Liberalization.
(2) State the structure of Capital Market in India.
(3) Explain the problems of General Insurance Companies in India.

(4) Explain the background of establishment of IBRD.

Q. 3. Answer the following questions in about 150 words each (any two) : [20]

(1) Explain the role of financial intermediaries in the economic
development.

(2) Explain the structure of Co-operative Bank in India.

(3) State in brief the changes in the structure of Indian financial system
after 1990.

(4) Give the outline of functioning of Stock Market.

Q. 4. Answer the following questions in about 500 words each (any two) : [30]

(1) Critically evaluate the role and performance of Commercial Bank
in India after 1970.

(2) Explain the meaning of ‘risk in investment” and explain in detail
classification of risk in investment.

(3) Explain the structure of Indian Financial System. Evaluate its role
in economic development since 1991.

(4) Critically examine the role of ‘“NABARD’ in co-operative credit
organization in India.
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M.A. (PART - Il) Examination — 2012
ECONOMICS
EC - 15 : Computer Application in Economic Analysis
(Annual Pattern)

Time : Three Hours Total Marks : 60

Note : (i)  All questions are compulsory.
(i)  Figures to the right indicate full marks.
(iif)  Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Q. 1. Attempt any seven of the following : [14]
(1) What is Internet?

(2) List any two Limitations of computer.
(3) What is File?

(4) Define line of regression.

(5) What is Forecasting?

(6) What is B2C?

(7) What is digital certificute?

(8) What is E-market?

(9) What is digital currency?

(10) List any two Web Browsers.

[4104] - 14 Page 1 P.T.O.
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Q. 2. Attempt any two of the following : [8]
(1) Explain any two input devices.
(2) What are the advantages of Electronic Trading?
(3) What are the benefits of Internet to business?

(4) What are the merits of Least Square method?

Q. 3. Attempt any three of the following : [18]
(1) Explain the moving average method to measure trend.
(2) Explain the working of ATM.

(3) Whatis File? Explain with example different operations performed
on File.

(4) What is E-cash? How you can use an E-cash?

(5) Explain the models for Time Series.

Q. 4. Attempt any one of the following : [20]

(1) Explain the working of online banking. What are the advantages
and disadvantages of online banking?

(2) What is Algorithm? Explain with example algorithm for sorting
and merging data.

L2 4 4
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M.A. (PART - Il) Examination — 2012
ECONOMICS
EC - 16 : History of Modern Economic Analysis
(Annual Pattern)

Time : Three Hours Total Marks : 80

Note :

(i)  All questions are compulsory.
(i)  Figures to the right indicate full marks.

(iii)  Answers should be precise and to the point.

Q. 1. Answer the following questions in about 20 words each (any ten) : [20]

(1)
(2)
3)
(4)
(5)
(6)
(7)
(8)
(9)
(10)
(11)
(12)
(13)

[4104] -

What is Ordinal Utility?

What is Static Economics?

What is Mede’s Model of Economic Growth.
Define Economical Development.

What is Welfare Economics?

Give Stigler's definition of Industrial Economics.
What is International Trade?

Give the definition of Game Theory.

What is meant by Input-Output Analysis?

Give the definition of Dynamic Economics.

Give any two assumptions of Klein’s economotives model?
What is Limit Pricing?

Define Subsistence Sector.

15 Page 1 P.T.O.
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Q. 2. Answer the following questions in about 50 words each (any two) : [10]
(1) State the criticisms on Ohlin’s Theory of International Trade.
(2) Explain George Stigler's contribution in Industrial Economics.
(3) Explain Hick’s IS-LM Model.

(4) State Arrow’s Impossibility Theorem.

Q. 3. Answer the following questions in about 150 words each (any two) : [20]
(1) Explain Gerard Debreu’s Model of Equilibrium.
(2) Explain Milton Friedman's Modern Quantity Theory of Money.
(3) Explain “Nash’s Embedding Theorem’.

(4) Explain Mede’s approach to general equilibrium of production
and consumption.

Q. 4. Answer the following questions in about 500 words each (any two) : [30]
(1) Critically explain the Portfolio Theory of James Tobin.

(2) Explain Amartya Sen’s thoughts on welfare economics. How they
are different from Bareto’s welfare economics?

(3) Critically explain Modigliani‘'s Model of Limit Pricing.

(4) Explain the Revealed Preference Theory of Samuelson.
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M.A. (PART - I) Examination — 2012
ECONOMICS
EC - 02 : Public Economics
(Annual Pattern)

Time : Three Hours Total Marks : 80
Note : (i)  All questions are compulsory.

(i)  Figures to the right indicate full marks.

Q. 1. Answer the following questions in about 20 words each (any ten) : [20]
(1) Define Merits Goods.
(2) What is Private Sector?
(3) Define the Regressive tax.
(4) What is Economic Stabilisation?
(5) Define ‘Fiscal Deficit’.
(6) What are ‘Grants’?
(7) What is zero based budgeting?
(8) State two sources of Internal Public Debt.
(9) What is ‘Developmental Expenditure’?
(10) What is Vertical Fiscal Imbalance?
(11) State any two features of Public Sector.
(12) Give two revenue sources of Local Bodies.

(13) Define Public goods.
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Total No. of Questions - 04] [Total No. of Printed Pages - 04
Q. 2. Answer the following questions in about 50 words each (any two) : [10]
(1) Distinguish between Impact and Incidence.
(2) Explain the sources of external public debt.
(3) Explain the interdependence of Monetary and Fiscal policy.

(4) Explain merits of direct taxes.

Q. 3. Answer the following questions in about 150 words each (any two) : [20]
(1) What are the trends in public revenue in India?
(2) Explain Wiseman-Peacock hypothesis.
(3) Explain the objectives of Fiscal Policy.

(4) Explain the recommendations of Ninth Finance Commission.

Q. 4. Answer the following questions in about 500 words each (any two) : [30]
(1) Describe the methods of repayment of public debt.
(2) Critically evaluate the theory of ‘Optimal Taxation’.

(3) Explain the recent trends in public expenditure. What are the
causes of increasing public expenditure in India?

(4) Explain the merits and demerits of Indirect Taxes.

[4104] - 2 Page 2



Total No. of Questions - 04]

( ATST ®UTaT )

A : I A=

L3 2 L

(2) @d yva Hisfau sevae 3.
(R) 3oEReE g YA ol 0T SRiforra.
(3) HeHHTE! oo SIS JedlIhT TTal.

[Total No. of Printed Pages - 04

TR IO : ¢o

Y. . Teiel YA Jereh! AR R0 IeRd IR fTeT (SRIUTET S&T) :

(?)
(R)
(2)
(%)
(W)
(8)
()
(¢)
(Q)
(o)
(2%)
(2R)

(23)

[4104] -

TUTeTc S ST <l
TISHT & TS Fra?

TR Shr=iT et 1.
aTffen feerdientor oS 12
“facita gt '=ht =men .
‘STIEH U 7

SRR 31efHehey Ut 1 ?

AT TSR oI < HET S,

forRTETcHe: T 0TSl S ?
FEATHT fawie ST TS i ?
SISt QST ShIvTdTe! <1 oif¥res wi.

HISSI ek = AT .

2 Page 3

[Ro]

P.T.O.



Total No. of Questions - 04] [Total No. of Printed Pages - 04

Y. R. Teia G Fereh! AR Yo Teaid Sk foTal (ShIUTdal giF) : [20]

(2) A F HLUR Fidied Fleh H.

() TS HIESIeh sheie AT I .
(3) THfaSTS U0 F fociia &R Fiqeite WERIee o T .
(¥) FA HI 0 T H,

Y. 3. Teia G Jreh! AR Qo i Sl forel (ShiuTdel g ) [R0]

(R) YRATAT Hrelsieh == / HEYeT=A Tt ShivTea?

(R) TESHA-TUehish i TETdeh &R T .
(3) focia grom=h gfeee e .
(¥) A fa A= RIARSN T &,

. ¥. Qe Feie Feish! G Yoo Tsaid It forel (FHITTEt ) [30]
(R) HESIHh heithe =1 ugerdl forere .

(R) T (T=aH) HAqur=A1 Fageiar Senrcieh Tl &,

(3) YRAT=A HeSeh Taidial STaihe e hldiiel Tgail T . HRA

HraSTeh @ ITGUIT=I 0] ShivTd 2
(%) 3THHET I TUI-S1T TIE .

00

[4104] - 2 Page 4



Total No. of Questions - 04]

[4104] - 3

[Total No. of Printed Pages - 04

M.A. (PART - I) Examination — 2012

ECONOMICS
EC - 3 : Indian Economic Policy
(Annual Pattern)

Time : Three Hours

Note :

(i)  All questions are compulsory.

(i)  Figures to the right indicate full marks.

(iii)  Answers should be precise and to the point.

Total Marks : 80

Q. 1. Answer the following questions in about 20 words each (any ten) : [20]

(1)
(2)
)
(4)
(5)
(6)
(7)
(8)
(9)
(10)
(11)
(12)
(13)

[4104] -

What is Sustainable Development?
What are Pressure Groups?
What is Birth Rate?

What is Regional Imbalances?
Define Food Security.

What is Industrial Productivity?
Define Monetary Policy.

Define Balance of Payments.
What is Globalization?

Define Economic Planning.
What is Density of Population?
What is Land Reforms?

What is Multinational Corporation?
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Q. 2. Answer the following questions in about 50 words each (any two) : [10]
(1) What are the objectives of Planning in India?
(2) State the indicators of Economic Development.
(3) What are the causes of Poverty in India?

(4) What are the causes of Inequality in India?

Q. 3. Answer the following questions in about 150 words each (any two) : [20]
(1) Describe the impact of WTO on the agriculture sector.
(2) Examine the “Industrial Policy 1991’ in India.
(3) Explain the recent changes in Money Market.

(4) Explain the role and effects of Multinational Corporations.

Q. 4. Answer the following questions in about 500 words each (any two) : [30]

(1) Describe the balanced growth approach of Economic
Development.

(2) Explain the problems of Agricultural Marketing. What are the
remedies to solve these problems?

(3) What are the causes of adverse Balance of Payment? Explain the
measures against the adverse Balance of Payment.

(4) Assess the impact of World Trade Organization on Indian
industries.
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M.A. (PART - I) Examination — 2012
ECONOMICS

EC - 7 : Industrial Economics
(Annual Pattern)

Time : Three Hours Total Marks : 80

Note :

(i)  All questions are compulsory.
(i)  Figures to the right indicate full marks.
(i)  Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Q. 1. Answer the following questions in about 20 words each (any ten) : [20]

(1)
(2)
3)
(4)
(5)
(6)
(7)
(8)
(9)
(10)
(11)
(12)
(13)

[4104] -

Define ‘Industrial Location’.

What is meant by Growth of Firm?

What is ‘Amalgamation of Industries’?

State any two effects of Industrial Monopoly.
What is cyclical pricing?

What is meant by break even point?

Give full form of ‘S.1.D.B.I".

What is meant by Foreign Direct Investment?
What is Privatization?

What is Regional Imbalance?

Define Corporate Tax.

What do you mean by Industrial disputes?

State two problems of Iron and Steel industries.
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Q. 2. Answer the following questions in about 20 words each (any two) : [10]
(1) Explain the objectives of firms.
(2) Explain the role of Private Sector in India.
(3) State the features of Industrial Labours.

(4) State the problems of Cement Industry.

Q. 3. Answer the following questions in about 150 words each (any two) : [20]
(1) State and explain the factors affecting industrial productivity.
(2) Explain the price policy of Public Sector in India.
(3) Explain the causes of Industrial disputes.

(4) Explain the role of MNCs in India.

Q. 4. Answer the following questions in about 500 words each (any two) : [30]
(1) Analyse the factor affecting industrial location.

(2) Evaluate the problems and performance of Small Scale and
Cottage Industries.

(3) Asses the working of I.C.I.C.I.

(4) Explain the impact of W.T.O. on Indian industrial development.
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M.A. (PART - I) Examination — 2012
ECONOMICS
EC - 8 : Labour Economics
(Annual Pattern)

Time : Three Hours Total Marks : 80

Note : (i)  All questions are compulsory.
(i)  Figures to the right indicate full marks.
(iii)  Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Q. 1. Answer the following questions in about 20 words each (any ten) : [20]
(1) What is Mobility of Labour?
(2) What is Poverty?
(3) Define Unemployment.
(4) What is Rationalization?
(5) What is Minimum Wage?
(6) What is Air Wage?
(7) What are Industrial disputes?
(8) Define Collective Bargaining.
(9) What is Social Security?
(10) What is Labour Welfare?
(11) State any two problems of female labour.
(12) State any two problems of child labour.
(13) Define Bonus.
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Q. 2. Answer the following questions in about 50 words each (any two) : [10]
(1) State the importance of Bonus System.
(2) Explain the nature of Labour Markets in developing countries.
(3) Write briefly, the role of Tripartism.
(4) Explain the concept of Exit Policy.

Q. 3. Answer the following questions in about 150 words each (any two) : [20]
(1) Explain the various methods of recruitment of labour in India.
(2) Explain the nature of poverty in developing countries.
(3) Explain the causes of industrial disputes in India.

(4) Discuss the State Policy on Labour Welfare in India.

Q. 4. Answer the following questions in about 500 words each (any two) : [30]

(1) Discuss the impact of Technological Change and Modernization
on employment in Organized Private industries.

(2) Explain the importance and difficulties in determination of
National Wage Policy in India.

(3) Explain the structure and achievements of Labour Unions in India.

(4) Review the recommendations of Second National Commission on
Labour.
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M.A. (PART - I) Examination — 2012
ECONOMICS
EC - 9 : Quantitative Methods
(Annual Pattern)

Time : Three Hours Total Marks : 80

Note :

(i)  Artempt All questions.
(ii)  Figures to the right indicate full marks.
(iii) Answers should be precise and to the point.

(iv) Use of nonprogrammable calculator is allowed.

Q. 1. Attempt any ten of the following : [20]

(D

(2)
(3)
“)

(3)
(©)
(N

(8)

[4104] -

Rewrite the following exponents :
e Y

3a+4b
6a —5b

22 e vileof
e ind the value o
y = x(x+1) for x > 0 Examine the continuity.

If A is an m x n matrix and B is n X p matrix, does AB exist? If yes,

write its order.
Define range.
Mention two uses of x2 test.

Find the missing number and give the sum using suitable formula :
14+3+9+—-—+81+243 +-—+ 2187

Differentiate :

y ;
a+bx+cx“+dx3+x4
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(9) Find the slopes of the following curves :
2x+3y=35 (at any point)

(10) 4x+2y=2, 3x -5y =21

Find x and y.

) 5 7
(11) Find the value of {2 4}

(12) Find the median height (in inches) :
59, 72, 63, 65, 62, 61, 70, 69, 10

(13) Write the merits of arithmatic mean.

Q. 2. Attempt any two of the following : [10]

(1) Given the marginal revenue fanction
L L
MR=—x 2
2

Find the demand function.

(2) Find APC, MPC, and MPS for the given consumption function :
C=10+0-5y wheny=8,y=10andy =20

(3) A market demand curve is given by D =36 — 3P
Find Pif D =24, also find Pif D = 10

(4) Differentiate between Correlation avalysis and Regression
analysis.

Q. 3. Attempt any two of the following : [20]

(1) Write an elaborate note on linear programming with the points
including assumptions concept and applications.

(2) 3x-4y+52=25
2x+3y+z=4
x-y+2z=9

Solve the equations using cramer’s rule.

[4104] - 6 2
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(3) A husband and wife appeared in an interview for two vacancies
in the same post. The probability of husband’s selection is 1/7
and that of wife’s selection is 1/5. What is the probability that,
(1)  Both of them will be selected.

(ii)  Only one of them will be selected.

(iii) None of them will be selected.

2 3 31
w waf? sl ]

Find AB', A'B, (ABY, (A +B)

Q. 4. Attempt any two of the following : [30]
(1) A discriminating monopolist has two distinct markets described
by
@ x =16 -02P
(i) B, = 180 - 20};2
If the total cost function is C = 20x + 20, where x = X, +X, find
the prices the monopolist will charge in each market while
maximising his profits. Find the profits with and without price
discrimination. [Note : In each market MC = MR1 = MRQ]

(2) A firm produces five qualities of its product which needs the

following materials :

Quality Materials needed
Ml ME M?S M4
A 6 6 10 8
A, 3 4 12 6
A, 4 5 15 8§
A, 2 2 12 5
3 2 10

e

[4104] -6 Page 3 P.T.O.
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If the firm has to produce respectively 3, 22, 20, 12 and 7 units of
the five qualities, find the amount of different materials required

by writing their requirements as a row vector.

(3) A die is rolled 9000 times. Of these 3220 times it shows 3 or 4.
Test the hypothesis that the die is unbiased.

(4) Write a detailed note on Correlation and Regression analysis.

L4 2 4

[4104] - 6 2



Total No. of Questions - 04 + 04] [Total No. of Printed Pages - 08
[4104] -6

ML.A. (PART - II) Examination — 2012
ECONOMICS
EC - 12 : Quantitative Methods
(Annual Pattern)

Time : Three Hours Total Marks : 80

Note : (i) Artempt All questions.
(ii)  Figures to the right indicate full marks.
(iit} Answers should be precise and to the point.

(iv)  Use of non programmable calculator is allowed.

Q. 1. Solve any ten of the following : [20]
(1) If A=1{2,3,5,6,7}and B={4,5,7, 8}
Find A|JB and ANB.
(2) A man bought a car for Rs. 8 lacs and sold it for 6-40 lacs. Find

the loss percent.

(3) Solve:

3 4
(4) Explain the concept of population in statistics.

(5) Scale the data and find the median.
0-09, 0-03, 0-01, 0-07, 0-04

(6) Whatis the probability that a letter of the English alphabet selected

is a vowel?

(7) Define mean deviation.

[4104] -6 Page 5 P.T.O.
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(8)

(9)

(10)

(11)

(12)

(13)

Find A + B, when,

3 =7 4 3 6 =5
A‘[s 2 —J’ B_[z 7 8}

Simplify

108+ of 36+ 2x31
4 5 74

[Total No. of Printed Pages - 08

Express each of the following as a fraction :

56%., 4%.
Solve the limits :

X2 +5x+6

lim 5

x—=3 x°—-x+2

Find Ilog x dx

Find the differential equation of all straight lines passing through

the origin.

Q. 2. Attempt any two of the following :

[10]

(1) A desk contains 3 pens, 7 ball pens and 2 pensils. What is the

(2)

(3)

[4104] -

probability that one object selected at rand
For a firm under perfect competition, it is

2
C=100+2%
1000

om is a pen?

given that P = 3 and

. Find the number of items to be produced to attain

maximum profit. Also find the maximum profit.

Show that :

3 4 3 -4 i )
7 3 = 7 3| &lves a unit matrix.

P;
6 age 6
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(4) Find Q. D. and co-eff. of Q. D. for the following datas :

Marks No. of Students

35-40 4
40 - 45 8
45 - 50 12
50-55 7
55-60 2

Q. 3. Attempt any two of the following :

[20]

(1) In a normal population, 15% values are less than 12 and 40%

(2)

(3)

(4)

[4104] -

above 16-2. Find the mean and S.D.

[Given : Value of Zl=l -037, and 22= 0-253]

Explain the following measures of dispersion :

1. The range
2. Mean deviation
3. Standard deviation

4. Quartile deviation

Solve the systems :
X FX, +X, = 6

4x1—x2+x3=5

Find the solution set determined by :

y-2x-4<0

2y-x-4<0

6x+5y-30<0
y-4<0

6 Page 7
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Q. 4. Attempt any two of the following : [30]
(1) State the merits and demerits of each of the following :
1. Arithmatic mean
2. Geometric mean
3. Weighted mean
4.  Median

(2) A monopolist has a demand function P = 15 — 6x and a cost
function C =2 + 3x — 3x> + 2x°. What is the effect of a 25% profit
tax on (1) Output, (2) Price, (3) Profit? What will be the effect
with a 100% profit tax.

(3) A machine is known to be producing 20 percent defective items.
Construct the probability distribution for 5 items selected at

random from the production of this machine.

(4) A mixture is to be made of three foods A, B, C. The three foods
contain nutrients P, Q, R as shown in the tabular columns. How to
form a mixture which will have 8 ownces of P, 5 ounces of QQ and
7 ounces of R?

Ounces per pound
Food  Nutrient P Nutrient Q Nutrient R

A 1 2 5

B 3 1 0

C 4 2 2
L 4 & 4

[4104] - 6 Ee
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ML.A. (PART - I) Examination — 2012
ECONOMICS
EC - 10 : Econometrics
(Annual Pattern)

Time : Three Hours Total Marks : 80

Note : (i) All questions are compulsory.
(ii)  Figures to the right indicate full marks.
(iii) Answers should be precise and to the point.

(iv) Use of calculator is allowed.

Q. 1. Attempt any ten of the following : [20]

(1) Define ‘Econometrics’.
(2) State significance of stochastic disturbance term in regression model.
(3) State ‘Gauss-Markov’ theorem.
(4) What is partial regression coefficient?
(5) Define ‘Dummy Variable’.
(6) Define Heteroscedasticity.
(7) What is ‘Logit Model’?
(8) State the formula for Multiple Correlation Coefficient.
(9) What is ‘Recursive Model’?

(10) What is structural stability?

(11) What is Hypothesis testing?

[4104]-7 Page 1 P.T.0.
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(12) Define the term reduced form.

(13) What do you mean by stationarity?

Q. 2. Attempt any two of the following : [10]
(1) State the methodology of econometric research.
(2) State the two rules of Identification of Simultaneous Equations
model.
(3) State and explain in short the properties of least square estimators.
(4) State the causes of autocorrelation.
Q. 3. Attempt any two of the following : [20]
(1) State all the assumptions of the Classical Linear Regression model.
(2) Explain formal methods of detection of Heteroscedasticity.
(3) Write a note on dummy variable.
(4) Explain ‘Probit” and “Tobit’ models.
Q. 4. Attempt any two of the following : [30]
(1) Estimate the function of the form y =« +BXfor the following
data :
Change in output (X): 26 13 16 -7 27
Investment (Y) : 65 57 57 54 66
(2) Write a detailed note on Multicollinearity.

[4104] -
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(3) Show that all the coefficients in the following demand and supply

model are identified :
Q; =0y +ay P +a,Y; + o, (Demand function)
Q =By +B; P, +1, (Supply function)

(4) Explain with example how dummy variable can be used in

combining time series and cross sectional data.

[4104] -7 Fage 3



Total No. of Questions - 04] [Total No. of Printed Pages - 04
[4104] -8

M.A. (PART - I) Examination — 2012
ECONOMICS
EC - Il : Demography
(Annual Pattern)

Time : Three Hours Total Marks : 80

Note : (i)  All questions are compulsory.
(i)  Figures to the right indicate full marks.
(iii)  Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Q. 1. Answer the following questions in about 20 words each (any ten) : [20]

(1) What is Demography?
(2) Define Death Rate.
(3) State the concept of Fertility.
(4) Define Census.
(5) What is meant by Urbanization?
(6) State any two determinants of age structure.
(7) What is Infant Mortality Rate?
(8) State any two objectives of Child Health Policy.
(9) What is Age Pyramid?

(10) Define Life Expectancy.

(11) What is Population Policy?

(12) Define Family Welfare.

(13) What is Population Explosion?

[4104] _8 Page 1 P.T.O.
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Q. 2. Answer the following questions in about 50 words each (any two) : [10]
(1) State the Scope of Demography.
(2) What are the factors affecting the decline in mortality rate?
(3) State the characteristics of census.

(4) Explain the tasks before the National Population Policy.

Q. 3. Answer the following questions in about 150 words each (any two) : [20]

(1) Explain the Components of Population Growth and state their
inter-dependence.

(2) Explain the Economic and Social implications of age structure.
(3) Explain the factors affecting Migration.

(4) Explain the Family Planning Strategies.

Q. 4. Answer the following questions in about 500 words each (any two) : [30]
(1) Explain the Theory of Demographic Transaction.
(2) Explain the Demographic Characteristics of Indian population.
(3) Evaluate the Indian Population Policy.

(4) Explain the growth and distribution of Rural - Urban population
in developing countries.

[4104] - 8 Page 2
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M.A. (PART - I) Examination — 2012
ECONOMICS
EC - 4 : Macro Economic Analysis
(Annual Pattern)

Time : Three Hours Total Marks : 80

Note :

(i)  All questions are compulsory.
(i)  Figures to the right indicate full marks.
(iii)  Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Q. 1. Answer the following questions in about 20 words each (any ten) : [20]

(1)
(2)
©)
(4)
(5)
(6)
(7)
(8)
(9)
(10)
(11)
(12)
(13)

[4104] -

What is National Income at factor cost?
Define LM curve.

Define “High Power’ money.

State Fisher’s Transaction Equation.
What is relative income?

What is Philip’s short-run curve?

State RBI’s approach to money supply.
Define accelerator principle.

What is induced investment?

State three motives of demand for money.
State Keynes's Psychological Law of Consumption.
What is Permanent Income Hypotheses?

What is Liquidity Trap?

9 Page 1 P.T.O.
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Q. 2. Answer the following questions in about 50 words each (any two) : [10]
(1) Explain input-output accounting of National Income.
(2) Explain the role of financial intermediaries in money supply.
(3) State the effects of changes in money supply on LM curve.
(4) Explain Tobin’s modified Philip’s curve.

Q. 3. Answer the following questions in about 150 words each (any two) : [20]
(1) Explain Fisher’s Quantity Theory of Money.

(2)
3)

(4)

Explain the circular flow of income in four - sector economy.

Explain the long-run factors affecting marginal efficiency of
capital.

State and explain Tobin's Portfolio Theory.

Q. 4. Answer the following questions in about 500 words each (any two) : [30]

(1)

(2)

3)
(4)

[4104] -

Explain relative effectiveness of monetary and fiscal policy with
IS - LM curve.

What is money multiplier? Explain in detail how the money
multiplier affects money supply.

Explain short run and long run Philip’s curve.

Explain Cambridge’s Quantity Theory of Demand for Money.

9 Page 2
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